LAW OF DIMINISHING MARGINAL RETURNS
MARGIN = ON THE EDGE OF OR EXTRA (PER ITEM)

YOU EAT A FIRST PIECE OF PIE ( 5 UNITS OF SATISFACTION

YOU EAT THE 2ND PIECE              ( 2 UNITS OF SATISFACTION

YOU EAT THE 17TH PIECE            ( -10 UNITS OF SATISFACTION

ON THE MARGIN (FROM 0) THE FIRST PIECE GETS US 5 MARGINAL UNITS   

  OF SATISFACTION, WHILE THE YIELD ON THE MARGIN FOR THE 2ND IS 2.

SOMETIMES THE MARGINAL RETURN INCREASES EARLY ON

TAKE ONE CLASS IN A SUBJECT =                                5 UNITS OF VALUE
TAKE ANOTHER CLASS THAT PUTS TOGETHER 

  WHAT WAS MISSING IN UNDERSTANDING 

   IN THE FIRST CLASS =                                                    9 UNITS OF VALUE

TAKE ANOTHER CLASS TO REINFORCE THIS ONE = 3 UNITS OF VALUE
MANUFACTURING PLANT (PEOPLE WORKING TOGETHER):

	
	PRODUCTION INCREASE
	TOTAL PRODUCTION
	PRODUCTION PER WORKER

	ONE WORKER                                                                   
	+5
	5
	5.0

	SECOND       
	+6
	11
	5.5

	THIRD                                                                 
	+7
	18
	6.0

	FOURTH                                                               
	+9
	27
	6.8

	FIFTH                                                               
	+8
	35
	7.0

	SIXTH                                                      
	+7
	42
	7.0

	SEVENTH 
	+5
	47
	6.7


    THE INCREASE IN THIS CASE AT FIRST IS GREATER BECAUSE OF SYNERGY AND EFFICIENCY.  IN A PLANT, ONE WORKER COULDN’T SPECIALIZE ENOUGH TO BE EFFICIENT, BUT AS MORE WORKERS WERE ADDED A SYNERGISTIC EFFECT HAPPENED TO PRODUCE MORE PER WORKER.

       THE FOURTH WORKER DIDN’T WORK ANY HARDER, BUT THE INCREASED EFFICIENCIES AS IT ALL FIT TOGETHER BETTER ADDED TO THE ABILITY OF ALL WORKERS TO PRODUCE MORE, ON THE MARGIN (OF ADDING THE FOURTH WORKER).
 NOTE THAT IF YOU THE FIRST THREE WORKERS PRODUCED THE SAME AS THE FIRST WORKER, THE PRODUCTION WOULD BE 3 X 5 = 15.  THIS IS A “LINEAR” PROGRESSION (PROGRESSION IN THIS CASE REFLECTS “PROGRESSING” BY ADDED ANOTHER WORKER).  AS YOU ADDED EACH WORKER (IF YOU GRAPHED IT), THE PRODUCTION WOULD GO UP IN A STRAIGHT LINE – I.E. LINEARLY.     

BUT WE CAN HAVE “NON-LINEAR” RESULTS, FROM SYNERGY.

BUT IF YOU ADDED UP THE THREE WORKERS AND CALLED THEM “PARTS” OF THE PRODUCTION TEAM, YOU WOULD NOTE THAT THE SUM (ADDING) OF THE PARTS, ASSUMING EQUAL PRODUCTION WITH THE FIRST WORKER, WOULD HAVE BEEN 15, BUT THE ACTUAL PRODUCTION (THE WHOLE) WAS 18.  THUS, THE EXPRESSION: THE WHOLE IS GREATER THAN THE SUM OF THE PARTS.

PRODUCTIVITY CAN ACTUALLY GO UP FASTER THAN A STRAIGHT LINE IF THERE ARE SYNERGIES (BENEFITS OF FITTING IT ALL TOGETHER).  IN ECONOMICS, THEY CALL IT THE “EFFICIENCIES OF SCALE” – A BIGGER SIZE (SCALE) PRODUCED GREATER EFFICIENCIES.  A SYNERGISTIC EFFECT WAS CREATED BY SYNERGIZING MORE WORKERS TOGETHER AND THE PRODUCTION WAS GREATER THAN ANY ONE PART COULD DO ON ITS OWN.

WITH REGARD TO COSTS ON, LET’S SAY, A SEMINAR, SHARING COSTS WOULD CAUSE COSTS TO GO DOWN, BECAUSE IT IS MORE EFFICIENT TO HAVE A CLASS SIZE THAT IS LARGER SINCE ONE PAID TEACHER CAN BE SPREAD OVER MORE PEOPLE.

SO YOU’D LOOK FOR CASES WHERE THERE ARE ECONOMIES OF SCALE, BOTH TO 

      SAVE MONEY

      INCREASE PRODUCTIVITY 
EVENTUALLY, DESPITE INCREASING MARGINAL RETURNS AND EFFICIENCIES, WE REACH “THE POINT OF DIMINISHING MARGINAL RETURNS”, WHERE WE GET LESS EXTRA PRODUCTION OUT OF THE NEXT WORKER THAN THE PREVIOUS ONE.  RIGHT BEFORE THAT IS THE POINT AT WHICH YOU RECEIVED THE HIGHEST AMOUNT OF INCREASED PRODUCTION FOR THE AMOUNT OF PAY FOR THE WORKER.   

BUT WHERE DO YOU STOP? 
YOU WOULDN’T STOP WHERE THE MARGINAL RETURN STARTS TO DIMINISH (CAUSE PRODUCTION PER WORKER IS STILL GOING UP).

YOU WOULD STOP, HOWEVER, WHERE THE COST FOR THE EXTRA WORKER IS NOT COVERED BY THE AMOUNT OF MARGINAL PRODUCTION FOR THE ADDED WORKER.  YOU STOP WHERE MARGINAL COST BEGINS TO EXCEED MARGINAL PRODUCTION. 

OTHER AVAILABLE OPPORTUNITIES EXIST

IF YOU HAD ONLY SO MUCH MONEY YOU COULD AFFORD TO PAY OUT FOR, SAY ONLY SIX WORKERS AND THERE WERE TWO PLANTS TO WORK AT, YOU WOULD HAVE TO CHOOSE THE PLANT WHERE THE WORKER HAS THE HIGHEST MARGINAL PAYOFF.  

NOW, IN LIFE, THIS WOULD APPLY AS FOLLOWS:

YOU LEARN A LITTLE BIT ABOUT A SUBJECT:  NOT QUALIFIED FOR JOB

YOU LEARN A BIT MORE:  QUALIFIED FOR A LOW LEVEL JOB

YOU LEARN A LOT MORE; QUALIFIED FOR A HIGHER LEVEL JOB THAT 
   MORE THAN PAYS FOR THE EXTRA TIME SPENT.

REAL CLEAR.  THERE’S A SYNERGISTIC EFFECT OF LEARNING MORE UNTIL YOU REACH THE POINT WHERE THE PAYOFF IS SUFFICIENT FOR YOU ON THE MARGIN. 

IN SELF DEVELOPMENT

IN SELF-DEVELOPMENT, IT IS LESS CLEAR.  YOU HAVE TO ESTIMATE AND INTUIT THE VALUE.  

IT MIGHT LOOK LIKE THIS IN A GRAPH


             TOTAL
          BENEFITS
                                  5   10   15   20  25  30 HOURS
                                       TIME SPENT
FOR THE SECOND 5 HOURS THERE WAS NO BENEFIT, BUT IT WAS STILL NEEDED TO GO TO THE NEXT LEVEL.

     FORMCHECKBOX 
 I WILL NOT GIVE UP TOO EARLY, AS I REALIZE THAT SOMETIMES 
          I’LL HIT A LOW PAYOFF PERIOD, WHICH I NEED TO SEE PAST.

THERE WAS A SUDDEN SYNERGY STARTING AFTER THE 10TH HOUR.

     FORMCHECKBOX 
 I REALIZE THAT WHEN THINGS BEGIN TO “COME TOGETHER”, 
         THE BENEFITS INCREASE SUBSTANTIALLY.

THE AMOUNT EXTRA YOU GOT OUT OF IT STARTED TO DROP AFTER THE 25TH HOUR.

     FORMCHECKBOX 
 I REALIZE THAT I WOULD KEEP GOING IN THIS AREA UNTIL IT 

          PRODUCED LESS THAN SOMETHING ELSE I COULD DO WITH MY 

          TIME.

           FORMCHECKBOX 
 OF COURSE, I WOULD GET RID OF ALL THE LOWER 

               PRODUCTIVITY ITEMS FIRST! 

 FORMCHECKBOX 
 I ALSO SEE THAT I SHOULD CONTINUE 

       FORMCHECKBOX 
 PAST THE POINT WHERE I JUST FEEL GOOD AND

       FORMCHECKBOX 
 UNTIL THE POINT WHERE I MASTER IT SUFFICIENTLY TO WHERE 

            FURTHER MASTERY DOESN’T PAY OFF MORE THAN DOING   

            SOMETHING ELSE.

       FORMCHECKBOX 
  I WILL NO LONGER STOP BEFORE THAT POINT. 

 FORMCHECKBOX 
 I REALIZE THAT PERFECTION DOES NOT PAY OFF AT THE MARGIN 
     AND I HEREBY GIVE UP PERFECTING ANYTHING BEYOND THE POINT OF 

     SUFFICIENT RETURN.

 FORMCHECKBOX 
 I ALSO SEE THAT IN ORDER TO DO THE ABOVE I MUST 

      FORMCHECKBOX 
 THINK AND EVALUATE, AND

      FORMCHECKBOX 
 PLAN WHAT TO PUT IN “THE SPACE” 

      FORMCHECKBOX 
 I HEREBY COMMIT TO DOING THIS WITH MY LIFE.

           FORMCHECKBOX 
 AND ADOPTING THE SYSTEMS AND THE MEANS TO DO THAT.



                                  X


                           X





                     X





              X


 X   X  
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